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S²Ì!“þ!Ýþ !î¦þyöì†îû ‹˜Ä xyœy”y vþz_îûþ™e îÄî£yîû „þöìîûyV 

!î¦þy† éôé „þ 
 

1Ð öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [4×5] 

 „þV ßþ¿,!“þöì„þ !„þ ²Ì›y îœy ëyëûÚ 

 …V „þyîû’ ç „þîûöì’îû þ™yíÅ„þÄ „þ#Ú 

 †V þ™Çþ•›Å“þy „þyöì„þ îöìœÚ 

 ‡V ßþºîû*þ™y!¢kþ ö£cy¦þy¢ „þyöì„þ îöìœÚ vþz”y£îû’ ”yçÐ 

 ˆV “þ„Åþ¢‚@ùÌ£ x %̃¢îûöì’ „þyöìëÅÄîû œÇþ’!Ýþ vþzöìÍÔ…þ™)îÅ„þ îÄy…Äy „þöìîûyÐ 

 ‰þV Ÿ·=öì’îû xy×ëû „þ#Ú ”)îûßþi Ÿöì·îû !„þ¦þyöìî ²Ì“þÄÇþ £ëûÚ 

 ŠéV “þ„Åþ¢‚@ùÌöì£ ²Ì”_ þ™öìÇþîû œÇþ’!Ýþ ”#!þ™„þy x %̃¢îûöì’ îÄy…Äy „þöìîûyÐ 

 ‹V ~„þ!Ýþ þ™Mþéyîëûî# x§ºëûéôéîÄ!“þöìîû!„þ x %̃›y˜ †àþ˜ „þîû ç ²Ìöì“þÄ„þ!Ýþ xîëûöìîîû ˜y› vþzöìÍÔ… „þöìîûyÐ 
 

2Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×15] 

 „þV “þ„Åþ¢‚@ùÌ£ x %̃¢yöìîû î%!kþîû œÇþ’ ”yçÐ ”#!þ™„þyöì“þ œÇþ’!Ýþîû !„þ ö„þyöì˜y þ™!îûî“Åþ˜ „þîûy £öìëûöìŠéÚ x§¬‚¦þRöì„þ x %̃¢îû’ „þöìîû 
îÄy…Äy „þöìîûyÐ [7+8] 

 …V x %̃!›!“þîû œÇþ’ ”yçÐ ”#!þ™„þyöì“þ œÇþ’!Ýþîû !„þ ö„þyöì˜y þ™!îûî“Åþ˜ „þîûy £öìëûöìŠéÚ xyöìœy‰þ˜y „þöìîûyÐ [7+8] 

 †V þ™Çþ“þy „þyöì„þ îöìœÚ ö„þy ä̃ ²Ì¢öìD þ™Çþ“þyîû xyöìœy‰þ˜y „þîûy £öìëûöìŠéÚ ²Ì!“þîõþ„þ ç vþzöì_‹„þ „þyöì„þ îöìœÚ xyöìœy‰þÄßþiöìœ 
²Ì!“þîõþ„þ ç vþzöì_‹öì„þîû ²Ìy¢!D„þ“þy îÄy…Äy „þöìîûyÐ [6+3+3+3] 

 ‡V !˜Á¬!œ!…“þ x %̃›y˜=!œîû öÇþöìe ¢y•Ä– þ™Çþ ç ö£“%þ !˜öì”ÅŸ „þöìîû ö£“%þ!Ýþ ö„þ˜ ”%ÜT “þy îÄy…Äy „þöìîûyÐ [5×3] 

  î!£« Ÿ#“þœ– öëöì£“%þ “þy |¡Œßþº¦þyîÐ 

  ßþº’Å!˜!›Å“þ þ™îÅ“þ î!£«ë%_«– öëöì£“%þ “þy •%›ë%_«Ð 

  þ™îÅ“þ î!£«›y ä̃– öëöì£“%þ “þy ²Ìöì›ëûÐ 

  mÄ’%„þ !˜“þÄ– öëöì£“%þ “þyîû „þyîû’ xyöìŠéÐ 

  x¦þyî x!˜“þÄ– öëöì£“%þ “þyöì“þ x¦þyîc xyöìŠéÐ  
 

!î¦þy† éôé … 
 

3Ð öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [4×5] 

 „þV ²Ìy„þ!Ò„þ ²Ì›y’ þ™kþ!“þ „þyöì„þ îöìœÚ 

 …V ¢“þÄŸy…# þ™kþ!“þöì„þ ö„þ˜ þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þ îöìœÚ 

 †V vþz”y£îû’¢£ ¢”íÅ„þ– ˜~ŒíÅ„þ ~î‚ £#˜yíÅ„þ þ™öì”îû ¢‚Kþy ”yçÐ 

 ‡V vþz”y£îû’¢£ ò‹y!“þó ~î‚ ò!îöì¦þ”öì„þóîû þ™yíÅ„þÄ ö”…yçÐ 

 ˆV vþz”y£îû’¢£ îy•„þ ”,ÜTyhsþ îœöì“þ „þ# öîyGþyëû îÄy…Äy „þöìîûyÐ 

 ‰þV ”%!Ýþ îy„þÄ öëï!_«„þ¦þyöìî ¢›yíÅ„þ !„þ ˜y “þy ¢“þÄŸy…# þ™kþ!“þöì“þ „þ#¦þyöìî !˜’Åëû „þîûy ëyëûÚ 

 ŠéV „þ…˜ ”%!Ýþ þ™”öì„þ ò¢›þ™!îû!›!“þ!î!ŸÜTó îœy £ëûÚ 

 ‹V !îöì•ëû„þ îœöì“þ „þ# öîyGþyëûÚ 
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4Ð öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ [2×15] 

 „þV  i) vþz”y£îû’ !”öìëû öîyGþyç ö„þ˜ þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þ xy›yöì”îû ²Ì›y’ ²Ì!e«ëûyîû ²Ìë%!_«öì„þ ¢îœ“þîû „þöìîûÐ [4] 

   ii) !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î•“þyîû ²Ìy„þ!Ò„þ ²Ì›y’ ”yçÐ [4] 

    (P Q) [(R S) T] / P [R S) T]        

  iii) þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î•“þy ²Ì›y’ „þöìîûyÐ [4] 

    (A B) (C D);   (C E) (~ F G)   

    (F H) (A I)   / ~ F  

   iv) þ™öìîûyÇþ ²Ì›y’ þ™kþ!“þ îÄî£yîû „þöìîû !˜Á¬!œ!…“þ îy„þÄ!Ýþ ßþº“þƒ¢“þÄ !„þ ˜y ëy‰þy£z „þöìîûyÐ [3]  

    ~ [(A ~ A) (~ A A)]   

 …V  i) ¢“þÄŸy…# þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î•“þy þ™îû#Çþy „þöìîûy [4] 

    ›!îûëûy!ÝÅþ þ™yœyöì“þ þ™yîûöìî ë!”˜y ö£y›ä¢ ¢!e«ëû £˜Ð xy›îûy çëûyÝþ¢öì̃ îû vþzþ™îû xyßþiy îûy…î ö„þîœ ë!” ö£y›ä¢ ¢!e«ëû 
˜y £˜Ð ¢%“þîûy‚ ö£y›ä¢ ë!” ¢!e«ëû ˜y £˜– ›!îûëûy!ÝÅþ þ™yœyöì“þ þ™yîûöìî ë!” ˜y xy›îûy çëûyÝþ¢öì̃ îû vþzþ™îû xyßþiy îûy!…Ð 

   ii) ¢“þÄŸy…# þ™kþ!“þöì“þ !˜Á¬!œ!…“þ îÄ„þÄmëû þ™îûßþ™öìîûîû öëï!_«„þ ¢›yíÅ„þ !„þ ˜y “þy ëy‰þy£z „þöìîûyÐ [4] 

    A B, (A B) & ( A B)     

  iii) þ¢“þÄŸy…# þ™kþ!“þ îÄî£yîû „þöìîû !˜Á¬!œ!…“þ îy„þÄ!Ýþ ßþº“þƒ¢“þÄ !„þ ˜y “þy !î‰þyîû „þöìîûyÐ [4] 

    [A (B C)] [A B) (A C)]       

   iv)  ¢“þÄŸy…# þ™kþ!“þöì“þ !˜Á¬!œ!…“þ îyöì„þÄîû ö¢Ýþ!Ýþ ¢D!“þþ™)’Å !„þ ˜y “þy ëy‰þy£z „þöìîûyÐ [3] 

    A B, A B    

 †V þ™” „þyöì„þ îöìœÚ þ™” ~î‚ ˜yöì›îû þ™yíÅ„þÄ „þ#Ú !˜Á¬!œ!…“þ þ™”=!œîû ÷î!ŸÜTÄ !˜’Åëû „þöìîûy ƒ › %̃¡ìÄc– @ùÌsþiy†yîû– !ŸÇþ„þ– 
„þœ„þy“þyÐ [3+4+8] 

 ‡V !îöì•ëû„þ „þyöì„þ îöìœÚ þ™îû!šþ!îûéôé²Ìî!“Åþ“þ !îöì•„þ “þy!œ„þy!Ýþ öœöì…y ~î‚ öëyöì¢šþ „þ#¦þyöìî þ™îû!šþ!îûîû ¢›yöìœy‰þ˜y „þöìîû̃ – “þy 
îÄy…Äy „þöìîûyÐ [4+3+8] 

 

English Version 

Group – A 

1. Answer any four questions : [4×5] 

 a) Is Smṛti pramā? 

 b) What is the difference between Kāraṇa and Karaṇa? 

 c) What is pakshadharmatā? 

 d) What is Swarūpāsiddha hetvābhāsa? Give example. 

 e) Define and explain Kārya after Tarkasaṁgraha. 

 f) What is the locus of the quality śabda? How can one perceive a distant sound? 

 g) Explain after Dīpikā the definition of pakṣa as given in Tarkasaṁgraha. 

 h) Construct a five-membered anvaya-vyatireki-anumāna mentioning the name of each member. 
 

2. Answer any two questions : [2×15] 

 a) Define Buddhi according to Tarkasaṁgraha. Is there any change of this definiton in Dīpikā. 

Explain following Annaṁbhatta. [7+8] 

 b) Define anumiti. Is there any change of this definition in Dīpikā? Discuss. [7+8] 

 c) What is pakṣata? What is the context in which the notion of pakṣata has been introduced? What is 

pratibandhaka and uttejaka? Show how the discussion of pratibandhaka and uttejaka is relevant in 

this context? [6+3+3+3] 

 d) Point out sādhya, pakṣa and hetu in each of the following cases of anumiti and explain why the 

hetu is defective. [5×3] 

  Fire is cold, for it is of the nature of heat. 

  Golden mountain has fire, because it has smoke in it. 

  The hill has fire, because it is knowable. 
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  A dyed is eternal, because it has a cause. 

  Abhāva is non-eternal, because it possesses abhāvatva.  
 

Group – B 

1. Answer any four questions : [4×5] 

 a) What is the method of Conditional Proof? 

 b) Why is the Truth-tree Method known as an Indirect-Proof? 

 c) Define, with illustrations, positive, negative and privative terms. 

 d) Explain and illustrate the distinction between 'Genus' and 'Differentia'. 

 e) Explain with example what is meant by Counter example. 

 f) How can two statements, to be determined as logically equivalent by truth-tree method? 

 g) When two terms are called 'commensurate' with each other? 

 h) What is meant by predicables?  
 

2. Answer any two questions : [2×15]  

 a)  i) Explicate with illustration why I.P. method strengthens our proof apparatus? [4] 

   ii) Give conditional proof of validity of the following argument : [4] 

    (P Q) [(R S) T] / P [R S) T]        

  iii) Prove the validity of the following argument by I.P. method : [4] 

    (A B) (C D);   (C E) (~ F G)   

    (F H) (A I)   / ~ F  

   iv) Use I.P. method to verify that the following statement is a tautology : [3] 

    ~ [(A ~ A) (~ A A)]   

 b)  i) Test the validity of the following argument by truth tree method : [4] 

    Moriarty will escape unless Holmes acts. We shall rely on Watson only if Holmes does not 

act. Therefore, if Holmes does not act, Moriarty will escape unless we rely on Watson. 

   ii) Verify whether the following two statements are logically equivalent by truth tree method : [4] 

    A B, (A B) & ( A B)     

  iii) Use truth tree method to determine whether the following is a tautology : [4] 

    [A (B C)] [A B) (A C)]       

   iv) Apply truth tree method to verify whether the following set of sentences is consistent : [3] 

    A B, A B     

 c) What is a term? What is the difference between a term and a name? Determine the characteristics 

of the following terms : Manhood, Library, Teacher, kolkata [3+4+8] 

 d) What is a predicable? Write the list of predicables introduced by Porphyry, and explain how 

Joseph criticises Porphyry. [4+3+8]      

 
 

 

 

 

 

 

 

 

 

 


